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1. 【About Major System Components of DB2】        (20%)
 Please explain the following components of DB2

(a) Pre-compiler
(b) Bind
(c) Runtime Supervisor
(d) Please draw the system flow chart to show the relationship among the above components
2.  Discuss the update operations on views of the relational model (10%)
3.  Discuss more detailed on the following statements (one-by-one): (20%)


1      CREATE TABLE SP

2         (S# S# NOT NULL, P# P# NOT NULL, 

     3         QTY QTY NOT NULL, 

     4         PRIMARY KEY (S#, P#),

     5         FOREIGN KEY (S#) REFERENCE S

     6                                    ON DELETE CASCADE

     7                                    ON UPDATE CASCADE,

     8         FOREIGN KEY (P#) REFERENCE P

     9                                    ON DELETE CASCADE

     10                                   ON UPDATE CASCADE,

     11        CHECK (QTY>0 AND QTY<5001));

4.  Compare the following two statements:  (10%)
(a)  (( S JOIN SP ) WHERE P#='P2')[SNAME] 

    (b)  (S JOIN ( SP WHERE P#='P2')) [SNAME]

5.  Draw the simple diagrams to show the 8 operations of the relational algebra.   (10%)
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6.  What kind of information can you get from the following definition of Educational 
 Database? Can you draw the Hierarchical structure? (10%)             
[image: image1]
7.  【About Cluster Index】  

(e)  What is the Cluster Index?  (5%)

(f)  A given base table can have at most one cluster index, why?  (5%)

(g)  What is nondense index?  (5%)

(h)  At most only one nondense index can be constructed, why?  (5%)


 


   1  DBD      NAME=EDUCPDBD, ACCESS=HSAM


2  SEGM   NAME=COURSE, BYTES=36


   3  FIELD   NAME=(COURSE#, SEQ), BYTES=3, START=1


   4  FIELD   NAME=TITLE, BYTES=33, START=4


 5  SEGM   NAME=PREREQ, PARENT=COURSE, BYTES=3


   6  FIELD  NAME=(PREREQ#, SEQ), BYTES=3, START=1


7  SEGM   NAME=OFFERING, PARENT=COURSE, BYTES=21


   8  FIELD   NAME=(OFF#, SEQ), BYTES=3, START=1


   9  FIELD   NAME=DATE, BYTES=6, START=4


  10  FIELD   NAME=LOCATION, BYTES=12, START=10


11  SEGM   NAME=TEACHER, PARENT=OFFERING, BYTES=24


  12  FIELD   NAME=(EMP#, SEQ), BYTES=6, START=1


  13  FIELD   NAME=NAME, BYTES=18, START=7


14  SEGM   NAME=STUDENT, PARENT=OFFERING, BYTES=25


  15  FIELD   NAME=(EMP#, SEQ), BYTES=6, START=1


  16  FIELD   NAME=NAME, BYTES=18, START=7


  17  FIELD   NAME=CRADE, BYTES=1, START=25
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